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ABSTRACT

#e construct an interval exchange transformation with infinitely
many intervals on fO, lj which has a posgsitive metrical entropy with

respact to ihe
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Such P does exist zs we will see lzter., For ue{o ljm, let ©(x)=n
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Finally, let T be the transformation on {O,l}Nx{O,l}N such that for any
(o,$)¢{0,1}¥x0,14¥

T(U,P)=(s S‘C(oc)ﬂ).
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This T can be considered as a transformetion on [O, lJ through the above
correspondence between [0, l] and {O l}N {O,l}n. In this sense, it is

eagy to see that T is an interval exchange transformztion.
THEOKEM h,(T) >0.

(proof) Let A:iAO, A1§ be the partition on {O,I}N{{O,l}k such
that Ai={(a,p); ﬁ(o)=i}_ (i=0,1). Then, it is sufficient to prove that
h,(T; A)=log 2. For simplicity, we denote Sd:St(«)“. By D,, we denote
the set of sequences (nO’nl""’nk—l) of positive integers such thzt

ni#max{n ...,nk_1} for any i=0,1,...,k-1. Then, it is easy to see
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tnat}x%i- (T(x), T(“u),...,tib m))GD S:l. For k=1,2,..., define

functions oy { ,...} _,el 2,...} inductively by
(7'1(110)=2no"1
2n0-1 +0’k-1 (nl go e ’nk_l) no>max{nl s e ’nk_l}
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O’k_l (nl g o0 e ,nk_l) 8153.
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Now, we show how to construct F satisfying (4), (5) and (6).
Tt Fl:{(O,l)j. Suppose that Fy, Foyenw, Fn have been selzcted so that
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Let Fn+l=Gan={M; fec_, Qeﬂn}. Then, it is easy to check that F,, F

1r 2

«eey F ., satisfy the conditions (7), (8) and (9) with n+l for n.

Moreover, since
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Thus, finally we get F satisfying (4), (5) and (6).



